R AZ / Components
BT =H)LT—%4 / Technical Datall No. TR / Part name #E / Pcs #8 / Material £ - RELEE / Color-Finish
#H{TRILY / Recommended torque 1 a—F—Iavs 4 7_}1’57'”‘;)_«_;“ ADC12 :/.}w{_ ’ 75%)-@% (m?m@@
Corner block Diecast aluminium ADC12 Silver , Black+Painted (Unfinished inside)
M2.5 : 0.15N*m ~ 0.2N*m 9 IR ) TILSHRHH A6063S-T5 DILR—- B (REMRALIE)
Frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
M3. M4 : 0.3N"m ~ 0.6N"m N RS 7 LS AG063S-T5 O N—- i (REREALIE)
Panel support frame 4 Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
4 A2 ) 7 ILEAR AT100P DIN—- B (RELELE)
Panel Aluminium A1100P Silver-Painted (Conductive inside)
5 Hii— ; T ILEHR A1100P DIN— B (REFELE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 Thi— | T ILEAR A1100P DILN— B (RESELE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
=PN TPE (Z5RMR) 7399
7 Ruber feet 4 TPE (Elastomer) Black
TR FIE& YT L DIIN—TILIA & T5VY
Aluminium feet Aluminium & Silicone Silver-Anodized & Black
8 HRAFE R (IMM3 x 8) 16 53 YTV AYF
Screw (Flat head M3 - 8) Steel Nickel plated
9 IMFER (M3 x 5) 8 % =T AyF
Screw (Trapezoid head M3 - 5) Steel Nickel plated
10 BWAFER (/31 FM4 x 8) ‘ % ZffRI0A—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
" BAFER GETRLLFAM25x 7) 8 &% =T ILAYE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

F view
4% / Product Number
o I et o A e A e A |
HTi& Witk DtiZF B R/A EXRP/H Btk
H dimension W dimension D dimension Feet (R or A) Screw (P or H) Color Type !

RB1L#% / Feet specification

L R4E# / Original trapezoid head screw specification

@30

10

® b

© @

ARESLUAH T DHRROEFEIHRXRAUSHTFERTRITRELES. / Copyright (C) TAKACH ELECTRONICS ENCLOSURE CO., LTD. AN Rights Reserved.

E 3L E / Rubber feet TILZRE / Aluminium feet E TS5 / Phillips 73 / Hexagon—socket
B {L#k / Color Type
i85 / Code | 3—4—TJ 0% / Corner block I3k / Frame 7374 JL / Panel #178— / Top cover | T4/5— / Bottom cover
S S < )L1N— / Silver < JLsN— / Silver < )JLsN— / Silver < )LsN— / Silver < )LsS— / Silver
S B 7594 / Black </ )LsN— / Silver 2 )L13— / Silver < )L18— / Silver < )Ls3— / Silver

4/ Title
TAKACHI] #R&#shFEMTE SRR T LS Hys r—2 @ [ ||
TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. ALUMINIUM ENCLOSURE with DETACHABLE PANELS —
K Approved | JRE Chooked | B/ Greated | ZLE Product mamber RE/Scale
AUP88-36-250101-010J _
iR x [320) N—%/Page
fRE/Date  2022/12/28 171




D view

B-B(1:5)

203

88+0.3

E view

c c
A view
360+ 0.5
= A 5
B
l E | i
= A
F view

A-A(1:5) C-C(1:5)
3 b
0
236 353
C view B view
250+ 0.5
w4/ Title

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

ISRILBRBET LI Yy —2R

ALUMINIUM ENCLOSURE with DETACHABLE PANELS

o]

RE/Scale
1:5

2 /Approved #&[X/Checked X /Created FIF /Product number
AUP88-36-251 -0
e x 5
1ERLH/Date

~R—/Page

2 /17




C fAl#x / C Frame

<
- ) )
&, i
5 2-M3FAY IR 5
2-M3 Countersunk
200 225 X RxtEHE4k / Same on the other side.
™
e
™
™
~
5 8
25
@
™
\—",_':.-a
™
R / Front side 251 / Back side
D {84k / D Frame
o o
ferae®)
\-"‘]_':F:l
R / Front side 221 / Back side
Mm%/ Title
TAKACHI) HRXLttahFEHTE BIiR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
Fzh/Approved | #&K/Checked | BUN/Created | Z2%/Product number RE/Scale
H88 — D250 12
EP*E X E]”*‘T ~N—T/Page
1ERLH /Date 2022/07/20 3/ 17




286

16

225

0
©
2-M2.5
310 55 10.5
©
b
L) oY
27 ] )
5 3 3.3
2-M3AY IR
2-M3 Countersunk
Et47K / Total 4 pieces
G/ Title
TAKACHI] BX&#4hFEHITE SL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
7R/ Approved #&[X/Checked X /Created FIF /Product number RE/Scale
W360 _ 1S
EP*E X E]”*‘T ~N—T/Page
1ERLH /Date 2022/08/08 4 /71




A /N2RJL / A Panel

309.5

75
ﬁa;l

XM / Front side

B /A% JL / B Panel

A#~ti% / Max dim. 302+ 05

K / Front side

BT / Max dim. 54.6+0.3

fREEL— M

Surface protective film side

4-M25FRAFILRY—T
4—Metal sleeve for M2.5

fREEL— M

35

“ﬂ
}

Surface protective film side [H

286

67.5

251 / Back side

221 / Back side

R4/ Title
HRRMIHTRIRTE Rees O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
=2 /Approved | #&R/Checked #IX/Created | Z2%/Product number RIE/Scale
H88 — W360 13
iR x 325 N—/Page
{ERL B /Date 2022/08/08 5/ 17




349.4

330
4-R14.7
7
<
: o
3 S
\G

E#~ti% / Max dim. 313+ 0.5

R / Front side

4-g45

AH#hTi% / Max dim. 203+ 0.5

fREES —MA

Surface protective film side

2@ / Back side

R4/ Title
TAKACHI] #AR#SHFERIE HIN— [
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover @
7R/ Approved #&[X/Checked X /Created FIF /Product number RIE/Scale
W360 — D250 1:35
i S B4t T P
fEfB/Date  2022/07/20 6 / 7




349.4

330
301.4
4-R14.7
e P
< o <
N4 o/

A#~Fi% / Max dim. 313+ 05

M@ / Front side

4-@45

<ti% / Max dim. 203+ 0.5

2

=l

4-M4

REL—MA

Surface protective film side

2@ / Back side

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
Th—

Bottom cover

o]

738 /Approved

R

%[/ Checked

T

#[/Created

A

24 /Product number

W360 - D250

RE/Scale
1:35

YERL B /Date 2022/07/20

~R—/Page

771






